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TB(1B) Ch. 9 Congruence and Similarity
Multiple Choice Questions

1. [11-12 Final Exam, Q17]

Which of the following pairs of triangles may not be similar?

A B.
3

2. [11-12 Final Exam, Q18]

In the figure, CD intersects BE at A. Z/BAC =90°, BC =8.5cm, AB =7.5cm, AD =8 cm, DE =17 cm and BC//
DE. Find the area of AADE.

8.5cm
A. 30cm? B. 60cm? B c
7.5 A
C. 68cm? D. 120cm?
8cm
D E

17 cm

3. [11-12 Final Exam, Q19]
In AABC and AEDF , BC = DF. Which of the following conditions cannot be used to prove that AABC = AEDF ?

A. AB=EDand ZC =D

B. AB=DEand AC =EF
C. ZzB=/Dand £C = ZF , .

D. AC=EFand LZA=/ZE =90° B I c F T D
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4. [12-13 Final Exam, Q9]
It is given that DABC ~ DADE. Which of the following must be true?A

Cow»

5. [12-13 Final Exam, Q17]

bD=DbDE
AB =AC
BC // DE

AB=1cmand BD =2cm
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It is given that ABCD is a square. Which of the following pairs of shaded triangles may not be congruent?

A.A/

6. [13-14 Final Exam]

Which of the following triangles must be congruent?

oCoOw»

I and Il only
I and Il only
Il and Il only

None of the above

B
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7. [13-14 Final Exam]
What additional information is needed to
prove AABC ~ AYZX?

A X
5 ¢ z
A /B=LY B. AB=XZ
C. BC=XZ D. ZA=XY

8. [14-15 Final Exam]
In the figure, AD 1. BC, «BAD =40°and £ DAC =50°. A

Which of the following is correct?
40° 500
A. AABD = AACD (ASA)
B. AABD = AACD (RHS)
C. AABD = ACAD (AAS)
D. AABD ~ ACAD (AAA) 5 | c
D

9. [14-15 Final Exam]

In the figure, ABCD is a trapezium with
AB // DC. AE bisects « DAB and DE bisects ~ ADC. Which of the following must be correct?

D > C
. BE=EC
Il. ~ZAED=90°
I1l.  AABE ~ AECD

E

A. lonly
B. llonly
C. land Il only
D. Iland Il only A 5

10. [15-16 Final Exam, #10]
In the figure, M is the mid-point of YZand XM _ YZ. The most direct reason for AXMY= AXMZ is

Y
M

A. SAS. B. RHS.

C. ASA. D. SSS.

~End ~
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